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Question 1

-2 4 -5 —4 0 —3
dm39dme00s: 7 —0 3 0 —8 . .

03390 44 — EIB

Select one:

(12 16 —5)
,\-13 —-16 2
(—12 16 —5)
b\ 3 —-16 22
(12 16 —5)
<\3 16 2
(12 —16 5)

4 \13 16 2
Question 2

1 0 -1 B=1 2
A= 5 4 2
03M39M - Qo — =/ 85¢)®03900L BsdMogero

Select one:

)
()
)


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%20%5Cbegin%7Bpmatrix%7D%20-2%20%26%26%204%20%26%26%20-5%20%5C%5C%207%20%26%26%20-6%20%26%26%203%20%5Cend%7Bpmatrix%7D%2C%20B%20%3D%20%5Cbegin%7Bpmatrix%7D%20-4%20%26%26%200%20%26%26%20-3%20%5C%5C%205%20%26%26%20-8%20%26%26%202%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=4A%20-%205B
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%2016%20%26%20-5%5C%5C%20-13%20%26%20-16%20%26%202%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20-12%20%26%2016%20%26%20-5%5C%5C%203%20%26%20-16%20%26%2022%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%2016%20%26%20-5%5C%5C%203%20%26%2016%20%26%202%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%20-16%20%26%205%5C%5C%2013%20%26%2016%20%26%202%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%20%5Cbegin%7Bpmatrix%7D%201%20%26%26%200%20%26%26%20-1%20%5C%5C%202%20%26%26%205%20%26%26%204%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%20%3D%20%5Cbegin%7Bpmatrix%7D%201%20%5C%5C%202%20%5C%5C%20-2%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%204%20%5C%5C%203%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%202%20%5C%5C%201%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%201%20%5C%5C%202%20%5Cend%7Bpmatrix%7D
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Question 3

2593590 ©93HJMHI0bIBE 0

Select one:
a. -28
b. -20
c. -24

d. 28

Question 4

ek
|

]

L OO

5dmbligbom gob@magds

Select one:

a. -3

Question 5

A= (
030390 A Fo@Mo3ol 99060bgdmwo BoGHMo3s, v

Select one:

(2 1)
3 1
C a. v 2 T2


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%203%20%5C%5C%204%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5CDelta%20%3D%20%5Cbegin%7Bvmatrix%7D%202%20%26%26%203%20%26%26%20-1%20%5C%5C%20-2%20%26%26%200%20%26%26%202%20%5C%5C%201%20%26%26%201%20%26%26%204%20%5Cend%7Bvmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%0A%5Cbegin%7Bvmatrix%7D%0A2%20%26%26%20x%20%26%26%200%20%5C%5C%0A1%20%26%26%20-2%20%26%26%203%20%5C%5C%0A2%20%26%26%200%20%26%26%200%0A%5Cend%7Bvmatrix%7D%0A%3D%0A%5Cbegin%7Bvmatrix%7D%0A2%20%26%26%20x%20%5C%5C%0A-1%20%26%26%205%0A%5Cend%7Bvmatrix%7D%0A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%0A%5Cbegin%7Bpmatrix%7D%0A-1%20%26%26%202%20%5C%5C%0A-3%20%26%26%204%0A%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%202%20%26%201%20%5C%5C%20%20%20-%5Cfrac%7B3%7D%7B2%7D%20%26%20-%5Cfrac%7B1%7D%7B2%7D%20%20%5Cend%7Bpmatrix%7D

Question 6
03mggo L +y+ Z, b5sg Ly Y % séob d990930 LobiEgdol sdmbsbligbo

2r 4 bz = -1
—3r+y=-3
y+4z=05

Select one:

Question 7
03390 a(3;5; —4) Q5 b=2i—4j 399H0O300L 24 + b GHoogz0
3030065300l 3MmMMOO0bsEHJO0

Select one:

a. (8; 10; -12)
b. (16; -20; -16)
c. (16; -4; -4)

d. (8; 6; -8)


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%20-%5Cfrac%7B1%7D%7B2%7D%20%26%20-1%20%5C%5C%20%20%20%5Cfrac%7B3%7D%7B2%7D%20%26%202%20%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%20-%5Cfrac%7B1%7D%7B2%7D%20%26%201%20%5C%5C%20%20%20-%5Cfrac%7B3%7D%7B2%7D%20%26%202%20%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%202%20%26%20-1%20%5C%5C%20%20%20%5Cfrac%7B3%7D%7B2%7D%20%26%20-%5Cfrac%7B1%7D%7B2%7D%20%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x%20%2B%20y%20%2B%20z
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x%2C%20y%2C%20z
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%0D%0A%5Cbegin%7Bcases%7D%0D%0A2x%20%2B%205z%20%3D%20-1%20%5C%5C%0D%0A-3x%20%2B%20y%20%3D%20-3%20%5C%5C%0D%0A3y%20%2B%204z%20%3D%205%0D%0A%5Cend%7Bcases%7D%0D%0A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%283%3B%205%3B%20-4%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%20%3D%202%5Cvec%7Bi%7D%20-%204%5Cvec%7Bj%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2%5Cvec%7Ba%7D%20%2B%20%5Cvec%7Bb%7D

Question 8

dm399m@os AB(—4;3;1) 399BHMO0 ©d A(2;

9O G0ol 3mmOHobs@gdo

Select one:

a. B(2;1;-2)

b. B(—=2;—1;2)

- B(2; -2:1)
B(-2;-2;1)

E—

¥ o ﬁ 356589@ 900l Ms 3603369 mdgdolsm3z0l

—5;0) Dod@owo. 03mggo B

05]6360 ( =9 d‘) Qo ﬂ? 18 )33j@m6>3?)0 30e0bgsHMEo?

Select one:
aa=6,=3
b.a=—6,3=3.
ca=6,8=-3.

a=—6,3=—
Question 10

03mgqom 2d — 5b ©5 30+ 2b g9dEme9B0b b3s@sGEo B5dM3o,

oo | =3 16l = 4 5 850 Beadrol 3egorby @ = @b =120°

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BAB%7D%28-4%3B3%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%282%3B-5%3B0%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%282%3B1%3B-2%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%28-2%3B-1%3B2%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%282%3B-2%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%28-2%3B-2%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbeta
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20p%28%5Calpha%3B-9%3B3%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20q%282%3B%5Cbeta%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D6%2C%5Cbeta%3D3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D-6%2C%5Cbeta%3D3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D6%2C%5Cbeta%3D-3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D-6%2C%5Cbeta%3D-3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2%5Cvec%7Ba%7D-5%5Cvec%7Bb%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%5Cvec%7Ba%7D%2B2%5Cvec%7Bb%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%7C%7D%5Cvec%7Ba%7D%7B%7C%7D%3D%7B3%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%7C%7D%5Cvec%7Bb%7D%7B%7C%7D%3D%7B4%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cphi%3D%5Cwidehat%7B%5Cvec%20a%2C%5Cvec%20b%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%3D%7D%7B120%5E%5Ccirc%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2-%7B%5Cfrac%7B%5Csqrt%7B3%7D%7D%7B2%7D%7D

Question 11

2390MM35egm Q= (_1.'- —1, 4) Qo b= (_2'- 2, U) 399dA™M900L 39dGH™OMYo bsdMmsg3eo.
Select one:

a. (8,8,4)

b. (-8,-8,-4)

c. (4,-8,-8)

d. (8,-8,-4)
Question 12

2950mmM35go d=(-2;3; _1), b= (1,4, 2), ©o ¢=(—4,3,-3) 399&H™O9doL
396090 6596Mo3w0

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D%7B%28-1%2C-1%2C4%29%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%3D%7B%28-2%2C2%2C0%29%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20a%3D%28-2%3B3%3B-1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20b%3D%281%2C4%2C2%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20c%3D%28-4%2C3%2C-3%29
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